EINT2[7:4] [22:20] | B EINT2[7:4] (154 J7 i 0000
000={1% H1F* 001=/ Hi°¥
O1x=143s I BEfih A 10x=3 b Hik
1x=1L ik
Reserved [19] TR 0
EINT2[3:0] [18:16] | B EINT2[3:0]HIfH 4 4 ik 0000
000={I% H1F* 001=/ H1°¥
OIx=3U#T T Ffl 10x=1435 _ETHiR
1x=1L %5
Reserved [15] (R 0
EINT1[14:12] [14:12] | && EINTL[14:12] 1154 7 0000
000={I% 1~ 001=/5; Hi-F~
OIx=3U#5 T Ffil 10x=1435 BT MR
1x=1L ik
Reserved [11] TR 0
EINT1[11:8] [10:8] | &'E EINTA[11:8] 154 7 0000
000={I% P 001=/5; Hi-F~
OLx=34#T T Ffl 10x=143r _ETHR
LIX=1L ¥ i K
Reserved (7] N 0
EINT[7:4] [6:4] | BE EINTA7:A] (154 Tk 0000
000={IG 1~ 001=/5; Hi-F
O1x=143s I BEfih A 10x=3i b Hik
1xX=1L ¥ i K
Reserved [3] (3 0
EINT1[3:0] [2:0] W EINTL[3:0] /{54 51k 0000

000=fIk H1.1* 001=¢ 11
OLx=14%5 F 10x=i2ifs E Tk
Lx=i# il A




EINT34CON fir Eitipa HIRARE
Reserved [31] (3 0
EINT4[13:12] [30:28] | W 'E EINTA[13:12) /1154 J5ik 0000

000={Ik H1F* 001=/ Hi°¥
OLx=147H T A& 10x=14#r_ETHib &
LIX=1L ¥
Reserved [27] (23] 0
EINT4{11:8] [26:24] | ¥ EINTA[1L8] (15 4 )7 ik 0000
000={I% H1°F* 001=/ Hi°¥
OLx=143 I BEfi A 10x=3 b Hik
1x=1L ik
Reserved [23] TR 0
EINT4[7:4] [22:20] | B EINTA[7:A K54 1% 0000
000={% H1F* 001=/ H1°¥
OLx=3U 5 T Ffl 10x=1435 _ETHiR
1x=1L %5
Reserved [19] TR 0
EINT4[3:0] [18:16] | B EINTA[3:0]HIfH 4 4k 0000
000={IG 1~ 001=/5; Hi-F~
OLx=3U¥T T Ffl 10x=1435 _ETHiR
1x=1L ik
Reserved [15:8] TRE 0
Reserved [7] (R 0
EINT3[4] [6:4] | W& EINT3[4](154 )ik 0000
000={% H1F* 001=/ H1°¥
OIx=147H T FEf & 10x=1#r_ETHib &
1x=1L %5
Reserved [3] TR 0




EINT3[3:0] [20] | B EINT3[30]/I154 J7 ik 0000
000={1% H1F* 001=/ Hi°¥
O1x=143s I BEfih A 10x=3 b Hik
1x=1L ik
EINT56CON fir Eiiipa Rk
Reserved [31:27] N 0
EINT6[9:8] [26:24] | B EINT6[9:8] 154 J7 ik 0000
000=fI&H V- 001=/ Hi¥
OIx=3U¥T T Ff 10x=1435 _ETHiR
1x=1L ik
Reserved [23] TR 0
EINT6[7:4] [22:20] | ¥ EINTE[7:4] BS54 7% 0000
000={IG 11~ 001=/5; Hi-F~
OIx=3U¥5 T Ffil 10x=1435 _ETHR
1IX=1L ¥
Reserved [19] 73 0
EINT6[3:0] [18:16] | ¥ & EINT6[3:0] {1154 J7 iz 0000
000={IG 1~ 001=/5; Hi-F
O1x=143s I BEfih A 10x=3 b Hik
1IX=1L ¥ i
Reserved [15:7] N 0
EINT5[6:4] [6:4] W EINTS[6:4] {54 J5ik 0000
000={I% H1F* 001=/ H1°¥
OLX=34 %5 T FA 10x=1#r_ETHib &
1IX=1L ¥ i
Reserved [3] (3 0
EINT5[3:0] [20] | B EINTS[3:0]fI15 4 J7 ik 0000

000=AI% H1 V- 001=5j H1 1~




O1x=13s I BEfih A 10x=3 LT Hik

LIX=1L ¥ i &
EINT78CON fir Eiiipa Rk
Reserved [31] TR 0
EINT8[14:12] [30:28] | #'E EINT8[14:12]/If5 4 J5ik 0000
000=fI&H V- 001=/ Hi¥
OIx=3U#T T Ffil 10x=143r _ETHi R
1x=1L ik
Reserved [27] TR 0
EINT8[11:8] [26:24] | & EINTS[1L8] 154 J5i%k 0000
000={I% P 001=/5; Hi-F~
OLx=34#T T Ffl 10x=1435 _ETHiR
LIX=1L ¥ i K
Reserved [23] 73 0
EINT8[7:4] [22:20] | ¥ EINTS[7:4] KIS A T7E 0000
000={IG 1~ 001=/5; Hi-F
OLX=34 45 T Ff 10x=1#r_ETHib &
1IX=1L ¥ i
Reserved [19] 73 0
EINT8[3:0] [18:16] | ¥ & EINT8[3:0] {154 J7iZk 0000
000={I% H1F* 001=/ H1°¥
OLx=147H T P& 10x=1#r_ETHib &
1IX=1L ¥ i
Reserved [15] 73 0
EINT7[15:12] [14:12] | % & EINT7[15:12] {54 ik 0000

000=A% Hi, T 001=15; H3,°F-




OLX=1 5~ b 10x=10#y E bk
Vx=i4 ¥ fb

Reserved [11] (3 0
EINT7[11:8] [10:8] | W E EINT7[11:8] (154 7k 0000
000={1% H1F* 001=/ Hi¥

O1xX=34 %5 T FA 10x=14#r_ETHib &
LIX=1L ¥ i K
Reserved (7] N 0
EINT7[7:4] [6:4] | B EINT7[7:4]015 4 J7 ik 0000
000={1% H1F* 001=/ Hi°¥
OLX=34 %5 T Ff 10x=1#r_ETHib &
1x=1L ik
Reserved [3] TR 0
EINT7[3:0] [2:0] ¥ B EINT7[3:0](015 4 J5ik 0000
000={% H1F* 001=/ H1°¥
OLx=3U 5 T Ffl 10x=1435 _ETHiR
1x=1L %5
EINT9CON fir Eitipa B
Reserved [31:7] N 0
EINTY[8:4] [6:4] W EINTO[8:4] {54 J5ik 0000
000={IG i1~ 001=/5; HiF~
OLx=3U 5 T Ffl 10x=1435 _ETHiR
1IX=1L ¥ i
Reserved [3] (3 0
EINTY[3:0] [2:0] WE EINTO[3:0] /{54 J5ik 0000

000= Hi.*T* 001=75; H1. -
OLx=1 ¥ ik 10x=3435 b A
Ux=i4 ¥ b




EINT12FLTCON L e HITHIRFS
Reserved [31:24] TR 0x00
FLTEN2[7:0] [23] EINT2[7:0]UE3% 22 it 0
0=2£ 11 1=1fifiE
EINT2[7:0] [22:16] | EINT2[7:0] Uik 5% )& 000
FLTEN1[14:8] [15] EINTL[14:8] yE % 4 ff e 0
0=2£11- 1=1fifiE
EINT1[14:8] [14:8] | EINTL[14:8]3H% 5 & 000
FLTEN1[7:0] 7 EINTL[7:0] JE3% 2% 1l & 0
0=%% 1=ff g
EINT1[7:0] [6:0] EINTL[7:0] 953 % 000
EINT34FLTCON i i W&
FLTEN4[13:8] [31] EINTA[13:8] # i 44 (g 0
0=%% 1=ff g
EINT4[13:8] [30:24] | EINTA[13:8] & v & 000
FLTEN4[7:0] [23] EINTA[7:0] JE3% #% 1 58 0
0=24% 1k 1=ff g
EINT4[7:0] [22:16] | EINTA[7:0]3&#k 8 000
Reserved [15:8] | f4H 0x00
FLTEN3[4:0] 7 EINT3[4:0] JE3% #% 1l & 0
0=2£11- 1=1fifiE
EINT3[4:0] [6:0] EINT3[4:0] JE3% % & 000
EINT56FLTCON i i W&
FLTEN6[9:8] [31] EINT6[9:8] & #% fif 5 0




o= 1 1=fi it

EINT6[9:8] [30:24] | EINT6[9:8]u&ik 7% )& 000
FLTEN6[7:0] [23] EINT6[7:0] &% #% 1 & 0
0=%% 1=ffifiE
EINT6[7:0] [22:16] | EINT6[7:0] %€k T 000
Reserved [15:8] | f&H 0x00
FLTEN5[6:0] (7] EINT5[6:0] €3 2 fit 0
0=2£11- 1=1fifg
EINT5[6:0] [6:0] EINT5[6:0] 33 % 5 000
EINT78FLTCON L e HITHIRFS
FLTENS[15:8] [31] EINTS[15:8] #i€ i #fii e 0
0=2£11- 1=1ffifg
EINT8[15:8] [30:24] | EINTS[9:8]u&ik 7% )& 000
FLTENS[7:0] [23] EINT8[7:0] JE3 2+ 1 it 0
0=2£ 11~ 1=1ffifg
EINT8[7:0] [22:16] | EINTS[7:0]u&ik 7% )& 000
FLTEN7[15:8] [15] EINT7[15:8] # i #3(F fE 0
0=%% 11 1=ffifiE
EINT715:8] [14:8] | EINT7[9:8]u 3 55 J& 000
FLTEN7[7:0] 7 EINT7[7:0] JE3% 7% 1l & 0
0=%% 1=ffifiE
EINT7[7:0] [7:0] EINT7[7:0] 8% % & 000
EINT9FLTCON i i WIS
Reserved [15:8] | f&H4 0x00
FLTEN9[8:0] (7] EINTO[8:0]uE) 2 fit 0

o= 1 1=fi it




EINT9[8:0] [6:0] EINTO[8:0] JE % % & 000
EINT12MASK fir Eiiipa AL SEINR
Reserved [31:24] | 4% 0
EINT2[m] [16+m] | O=fiir ¥t 1= 1
m=0~7
Reserved [15] | fR# 0
EINT1[n] [n] O=1g v 7 1=5t il 1
n=0~14
EINT34MASK fir Eitipa B
Reserved [31:30] | f#f 0
EINT4[m] [16+m] | O=Adirf i 1=5F il 1
m=0~13
Reserved [15:5] | TiFd 0
EINT3[n] [n] O=f 11 1= 1
n=0~4
EINT56MASK fir Eitipa IR
Reserved [31:26] | &% 0
EINT6[m] [16+m] | O=Adirf i 1=5t il 1
m=0~9
Reserved [15:7] | TRFd 0
EINTS[n] [n] O=ff 11k 1=ff ik 1
n=0~6
EINT78MASK fir Eitipa IR
EINT8[m] [16+m] | O=fiirkr 1= 1




m=0~14

EINT7[n] [n] O=Aii 11k 1=pr i 1
n=0~15
EINTOMASK fir Eiiipa Rk
Reserved [31:9] | AW 0
EINTO[N] [n] O=ff 11k 1=ff ik 1
n=0~8
EINT12PEND fir Eitipa B
Reserved [31:24] | fR¥ 0
EINT2[m] [16+m] | O=A /i 1= 0
m=0~7
Reserved [15] PR 0
EINT1[n] [n] O=AN A 1=R A 1
n=0~14
EINT34PEND fir Eitipa B
Reserved [31:30] | f#f 0
EINT4[m] [16+m] | O=AK i 1= A 1
m=0~13
Reserved [15:5] | f&f 0
EINT3[n] [n] O=AN R 1=R A 1
n=0~4
EINT56MASK fir Eitipa B
Reserved [31:26] | f#f 0
EINT6[m] [16+m] | O=A%& AL 1=R A 1




m=0~9
Reserved [15:7] | fRF 0
EINTS5[n] [n] O=AN A 1=R A 1
n=0~6
EINT78MASK fir Eitipa B
EINT8[m] [16+m] | O=A /i 1= 1
m=0~14
EINT7[n] [l O=ANK 2k Hh by 1=K 1
n=0~15
EINTOMASK fir Eitipa IR
Reserved [31:9] | AW 0
EINTI[n] [n] 0= A= vh iy =R A 1
n=0~8
e 2474 (PRIORITY)
e Hhhk WE | R A
PRIORITY Ox7F008280 | /5 | AN L Sl 27 47 4% O 0x000003FF
PRIORITY fir ik HITHIRES
ARB9 [9 AR T 9 AL ST e A ik 1
=AM SE ek
o=t SE et il it
ARBS8 (8] SRR T 8 AL ST e Al ik 1
=AM SE ek
O=flt S Jie 4 fi ik
ARB7 (7] SIS 7 AT e Al e 1
=AM SE ek
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